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QUESTION
NUMBER SOLUTION MARKS ;
L @0 | P={1,2,3,4,6,9,12, 18,36} MI (at least 5 correct) Al |
0={1,2,3,6,9, 18,27, 54} M1 (at least 3 correct) Al
(i) (@) PnQ ={1,2,3,6,9, 18} M1 (at least 3 correct) Al
B nPnQ)=6 B1
(7) | HCF of 36 and 54 is 18 B1
| ®)| 1, 4,9,16,25 B1B1
"‘Ji,.‘!\‘ Y <\k
(©) ¢ = dm=3+3mi1 M1 (R.H.S)
| 2 Al for equating to 6
6Xx2=7m—2
1242 = Tm M1 for clearing fraction
14 =Tm M1 for solving
m=2
Al for 2
[15 MARKS]
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SOLUTION

MARKS

2.

(a)

(b)

(c)

(lg.}(?_-i _(4“
3 12) (3 8) 12

L))

)+(162—415J

5 24

= ——

12

=5

%2

=10

(2x —3)(2x + 3)
2x(2x +3) = 3(x + 3)
4x* + 6x — 6x — 9

4 -9 (x

3x+2=11
3x=11-2
3x=9

x=3

2y+3=11
2y=11-3

2y=8

1

MIMI1A1

M1 for any correct

M1 for inverting & multiplying
| M1 for simplifying
| Al for 10

1

M1
| M1
| Al

M1
|

| Al for3

| M1

i
Al for 4

Al for 7
[15 marks]
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QUESTION
NUMBER SOLUTION MARKS
o | p=2n)
3. (a)(l) 4(m+n)
_2mimy(m-n) oo e
4(m+n) " M1 for factorizing numerator
_ 2(m-n)
* M1 for simplification
=mn
: I Al
. _2-3
) ==
—— M1 for substituting
2
Al for =
. 2
Or or
I = 2(22-32)
4(2+3) - - R Mi1for substituting
_2(4-9)
4(5)
_2(=5)
4(5) !
1 I— _ ﬁ
=3 ' - Al for = 5
2 f
|
)| 273 |
3x x
4 3 !
L x3x=T7x3x——x3x
3x S X, \ , M1 for clearing fraction f
4=21x-9 LT T ‘
4+9=2lx M1 for solving |
13=21x ;
|
X = - Al ].‘
|
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QUESTION SOLUTION MARKS
NL H\-IBI:B _
3 (©) Total sale of 12 textbooks =12x25
=(10+2)x25
=10x25+2x25
=250+50
=GH¢300.00 . —— | B1
Total cost of 3 calculators = 3x 50
=GH¢150.00 —— | gy

Total cost of 8 packets of pen = 8x 50
=GH¢400.00 —— | B1
Total sales =300+150+400

= GH¢850.00
Commission = 55% of 850
1,1 ‘
T2 ><100><850 5 M1
=21 x 425
100
4675

100

= GH(46.75 Al [15 marks]
z

,’ -1 ow/wu/2dp

B1

M1 for simplifying
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NUMBER ”
:4 (a)(l) ' m either
[ ’ Fred 4 yearsago=(x—1) -4 ")
; =X — | —4 A“l” 2 :
* =(x-35) years
! (i1) (..
Fred 8 years fromnow=(x-1)+8 . ' -~
| —x—1+8 al
=(x+7)years
(i) | £7=3(x=5) = M1 for equating
x+7=3x-15 __ CETTEENN PIOSNTE | M for selving acncs e b
7+15=3x—x - o " ,
22=2x
=11 , Al forx=11
His age now =11-1
=10 years s - | Al for =10 years
(®)® | Let a=the width
a
5
Ea
a+a+3a+3a=497 - ' - M1 for correct sum Al |
!
ZAHIASATT | M1 for solving '
7a =497 .
497 M1 for dividing by 7
a=—-
7
| =71t Al for 71 km
e | 5
(i1) sty ws i
Length 2>f71 M1
, | _ 335 M1 for simplifying (evidence)
1 ; p,
‘ 177.5km Al for 177.5km
| ‘ i |
| | oww | (15 marks] |
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;
:
\
i
|
i

(b)

(c(i)

(x=)@m+n)—(m—2n)] R

(x=»Bm+n-m+2n]
X = y)(2m+3n)

L)
Hy -

6=3-3x
3x=3-6
3x=-3
x=-1 I
8=-2y
y==4%
x+p)=-1-4 — =
~—5 |
1 1.,
2 2
(x*lszs_l_x2+x><2
2 2
x—1<1+2x
-1-1<2x-x
% {x=—2}
: e
D A A L
-4 -3 -2 -] Y

-1 omission of {}

QUESTION
NUMBER SOLUTION MARKS
5. @) | (x=»)@m+n)—(x—y)(m-2n)

M1 for factorizing (x — ) Al
M1 for simplifying
Al

v
M1 for correct substitution

M1 simplifying one component
correct

M1 for solving for x or y

Al

Al

M1 for adding
Al

M1 for clearing fraction
M1 for solving
Al for {x = -2} —

B1

[1€ marks]
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QUESTION /'\
NUMBER SOLUTION MARKS
6 @
B2 (——ee)
® |
!
|
|
; l
§
1
'| ‘
| |
‘ !
rabbu byt _]: 23 ¢ 2 pelmed bogRd kseom ey 1 3
. 'B1 -1
: (c)(i) | correct label of x — axis f z €€
T correct label of y — axis — Bl —1ee
correct plotting of points ' 1
B3 - ;ee
(ii) | drawing a straight line through all the points 1 Bl
(d)(i) w y=10.2 0.2 MI1Al
(i) | x=39%0.1 ' M1AL1
Gii) Using any two poin‘ls. Eg(2, 1) and (-1, 7) or right-angled triangle on graph
- Gradient ~ !,
| -2 M1
6
: M1 for simplifving
3 2 Al [ 1S marks|
L, A K

5 \/ Y o




